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7 100kN/ Mm% 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
zhst — -~ - —| #hst -~ - — — Fhest — -~ — —| #hest - ~ — — —
2 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
zhst — -~ - —| #hust -~ - — — ZFhst — -~ — —| #hest - ~ — — —
3 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 6.06 76.02 | NS | 000 ~ 606 1.99 10.63 st 1.00 | .00 ~ 782 76.02 | ThSY | 6,00 ~ 7.82| 1.99 10.63
4 100kN/m%E#8z5 | 1.00 | 000 ~ 022 10321 |3mx#zZ3| — ~ — — — | 100kN/MZ#8Z5 | 1.00 | 1061 ~ 1121 105.21 |3m%EiBZ D - ~ — — —
s 1.00 | 0.22 ~ 800 100.00 | =nlhst | 000 ~ 800 | 1.72 923 st 1.00 | 6.00 ~ 1061 100.00 | =nhst | 6,00 ~ 1121] 1.72 9.23
5 100kN/m%E#8z5 | 1.00 | 000 ~ 022 10321 |3mx#8zZ3| — ~ — — — | 100kN/MZ#8Z 5% | 1.00 | 1061 ~ 1121 105.21 |3m%EiBZ D - ~ — — —
s 1.00 | 0.22 ~ 800 100.00 | #nlhst | 000 ~ 800|213 11.39 st 1.00 | 6.00 ~ 1061 100.00 | =nhst | 6,00 ~ 1121|213 11.59
P 100kN/m%E#Z5| 100|000 ~ 248 13883 |3m&E#ZB| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1063 ~ 2084 13883 |3mE#Bz% - ~ — — —
s 1.00 | 248 ~ 1026 100.00 | NSt | 0.00 ~ 1026] 2.80 14.98 st 1.00 | 6.00 ~ 1063 100.00 | =4t | 6.00 ~ 2084| 2.80 14.98
- 100kN/m%E#BZ5 | 1.00 | 000 ~ 257 140.36 |3mEEBZD| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 10.72 ~ 2154 140.36 |3mE#BZ % - ~ — — —
s 1.00 | 2567 ~ 1036 100.00 | NSt | 0.00 ~ 1036] 2.83 15.16 st 1.00 | 6.00 ~ 10.72 100.00 | =4t | 6.00 ~ 2154| 2.83 15.16
P 100kN/mM#E#BZ5 | 1.00| 000 ~ 124 118.69 [3mz#BZBH| — ~ — — — | 100kN/m%E#8Z25 | 1.00 | 11.82 ~ 1608| 11869 |3mE#Bz% - ~ — — —
s 1.00 | 1.24 ~ 9.02 100.00 | =St | 0.00 ~ 9.02| 2.67 14.29 st 1.00 | 6.00 ~ 1182 100.00 | =hst | 6.00 ~ 1608| 2.67 14.29
9 100kN/m%E#8BZ5| 100|000 ~ 067 109.91 |3mEEBZD| — ~ — — — | 100kN/ %825 | 1.00 | 1284 ~ 1516| 109.91 |3m%E#BZ5 - ~ — — —
s 1.00 | 0.67 ~ 845 100.00 | =St | 000 ~ 845\ 2.77 14.82 st 1.00 | 6.00 ~ 1284 100.00 | =hst | 6.00 ~ 1516|277 14.82
10 100kN/m%E#Z5| 100 | 000 ~ 163 12488 |3m&E#ZB| 000 ~ 037] 328 17.57 | 100kN/m#%#8z25% | 1.00 | 1437 ~ 2266 124.88 |3mZE#Bz25B| 2000 ~ 2266| 3.28 17.57
s 1.00 | 1.63 ~ 941 100.00 | =nst | 0.37 ~ 941 | 3.00 16.05 st 1.00 | 6.00 ~ 1437 100.00 | =nst | 5.00 ~ 2000 3.00 16.05
11 100kN/mM%E#BZ 5 — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 4.34 54.21 | #nRS | 000 ~ 4.34 | 1.98 10.67 st 1.00 | 6.00 ~ 5.00 54.21 | =hLS | 5,00 ~ 6.00| 1.98 10.67
12 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 5.54 69.15 | TN | 000 ~ 554 | 1.85 9.91 st 1.00 | .00 ~ 6.27 69.15 | Ths | 6,00 ~ 627 1.85 9.91
13 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 6.04 75.69 | NS | 000 ~ 0.00| 1.65 8.81 st 1.00 | .00 ~ 7.08 75.69 | TS | 6,00 ~ 7.08| 1.65 8.81
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ ImERBZD ~
zhst ~ ZFhst ~ Fhst ~ Fhust ~
100kN/mM%E{BZ 5 ~ 3ImEEBAD ~ 100kN/m%#B% % ~ ImERBZD ~
zhLst ~ FhLst ~ FhLst ~ ZFhLst ~
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